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Nov 8

The mean height of a Brampton mouse is 15 cm with
a standard deviation of 2 cm. What is the probability

that a randomly selected mouse is between 12.75 cm
and 15.5 cm in height?

The mean length of a Brampton maple leafis 12 cm
with a standard deviation of 3 cm. What is the

probability that a randomly selected leaf is between
10.5 cm and 16.5 cm in length?



The mean height
of a Brampton
mouse is 15 cm
with a standard
deviation of 2 cm.
What is the
probability that a
randomly selected
mouse is between
12.75 cm and 15.5
cm in height?
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The mean length of
a Brampton maple
leaf is 12 cm with a
standard deviation
of 3 cm. What is the
probability that a
randomly selected
leaf is between 10.5
cm and 16.5 cm in
length?
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Another question:

The weights of bars of chocolate produced by a machine are normally
distributed with a mean of 232g and a standard deviation of 3.6g. Find the
proportion of the bars that could be expected to weight less than 233.91g?



Another question:

The weights of bars of chocolate produced by a machine are normally
distributed with a mean of 232g and a standard deviation of 3.6g. Find the
proportion of the bars that could be expected to weight less than 233.91g?

o - 3-(gj
X =23379]



Another question:

The weights of bars of chocolate produced by a machine are normally
distributed with a mean of 232g and a standard deviation of 3.6g. Find the
proportion of the bars that could be expected to weight less than 233.91g?
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Another question:

The weights of bars of chocolate produced by a machine are normally
distributed with a mean of 232g and a standard deviation of 3.6g. Find the
proportion of the bars that could be expected to weight less than 233.91g?
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Another question:

A normally
distributed
variable x has a
standard
deviation of 3.9.
Also, 71.37% of
the data are
larger than
249.8. Find the
mean of x.
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